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GROUP-A
e+
1. Answer any five of the following: Ix5=5
e @-ceie =5 evis T wies
(a) What do you mean by Rh-factor?
Rh-F134 I=1C0 1 GG 9
(b) Write down two functions of lymph.
IR 70 P @Al
(¢) What do you mean by Cardiac Cycle?
ZUHE TS Bl (I 2
(d) Write down the names of the hormones associated with blood pressure.
TSDICAE F IS LA T 7N @Te|
(¢) What is Stannius Ligature?
BT Tl S A0 2
(f) What do you mean by the Hamburger Effect?
Qi 2 F ¢
(g) Define Surfactant.
ATFIIFOID F 2
(h) What is the Reverse Chloride Shift?
et raizs s i 9
(1) What is Ultra filtration?
P01 2{fRAKe FICE A0 9

GROUP-B
fetl-4
Answer any three of the following 5x3=15
fmfeiide -t foafs etes Tea mie
2. What is Rh-factor? Write down the importances of Rh-factor.
Rh-/139 1 9 @9 g G Al
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Define lymph. How is lymph produced? Write down the functions of lymph.
SR I 0T | TR RPN Teofdl 27 9 TR 1T (1040

Write down the role of Vasopressin or ADH in regulation of Blood Pressure.
eI ferEce SNt A ADH-G3 GiRe! (e |

Write down the source and functions of ANP.
ANP-93 T € FE &1 |

Write down the importances of Spirometry.

BRI TE wleord =1l

What do you understand by the Landsteiner’s law? What is the Renin-
Angiotensin system?

SIGEHEANCH 34 00 Bl @I ¢ @IF-SyifereGam e Fi 9

GROUP-C
retat-of

Answer any fwo of the following

fomferire Q- 715 evem e me

What do you understand by the term blood Coagulation? Describe in detail, the
process of blood Coagulation.

TGO FIF 0 9 TSOET atoq el we |

What is Cardiac Cycle? Describe the various sequence of events of the Cardiac
Cycle.

ZVHE FICP A0 9 TUDIEA [(1SH Toe A P |

Describe in detail, the process of Respiration. Define Vital Capacity.
AR AT SN S | IATEG I 2

Describe the mechanism of Counter-current multiplier.

FIGOR-FIES NBARMET &S NS FCEH |

10x2 =20

5+5=10

2+8=10

8+2=10
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